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Question Number : 1 Question Id : 2549896263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What are Windows 95, Windows 98, and Windows NT known as?
Options :

1. # Processors

2. % Domain names

3. ¥ Modems

4. ¥ Qperating systems

Question Number : 1 Question Id : 2549896263 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows 95, Windows 98 3R Windows NT ! g =0 & ST SITdT 82
Options :

1. % TR & 9 |

2. % ZEAAH & =g H

3. % AIgH B U H

4. ¢ ARETRRA F = H

Question Number : 2 Question Id : 2549896354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an example of network operating systems?
Options :

1. ¥ DOS

2. % Netware

3. ¥ Windows NT server

4, % Solaris

Question Number : 2 Question Id : 2549896354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

9 T § S Aead TR Red &1 Iaevu 781 82
Options :

1. ¥ DOS

2. % 9TAW

3. ® Windows NT gd%

4. % ey

Question Number : 3 Question Id : 2549896521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0

To print a web page displayed through Internet Explorer, the following shortcut key can be used:
Options :

1. ¢ Ctrl+P

2. % Cul+V

3. % Ctrl+C

4. % Cul+S

Question Number : 3 Question Id : 2549896521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%CQ:IC URIWIRR (Internet Explorer) %mmﬁwﬁhé&wg@amﬁ%%& ﬁqﬁr@ﬁﬁﬁmmﬁmﬁﬂaﬂmﬂmww
0

Options :

1. ¢ Ctrl+P

2. % Ctrl+V

3. ® Cul+C

4. % Ctrl+S

Question Number : 4 Question Id : 2549897072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



is a part of the computer that you can physically touch.
Options :
1. ¥ Hardware
2. % Software
3. # Virtual Memory
4. # Operating System

Question Number : 4 Question Id : 2549897072 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
RIS w6, o oy Hifde ¥ 3 Wl R I §
Options :

1. ¥ BISaWR

2. % FUCIW

3. % g AARt

4. % RIS RzeH

Question Number : 5 Question Id : 2549897407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, the various heading options are available under which of the following?
Options :

1. ¢ Styles

2. # Font

3. # Paragraph

4. % Clipboard

Question Number : 5 Question Id : 2549897407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word &, 79 & 9 forg & 3iaia faftre 8f$w fapey Suasu g1d 82



Options :

1. ¢ X

2. % BIUC

3. % IRAMG

4. % foauars

Question Number : 6 Question Id : 2549897719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following types of network is contained within a user’s home?
Options :

1. # SAN (Storage Area Network)

2. ¥ HAN (Home Area Network)

3. % WAN (Wide Area Network)

4. ¥ CAN (Controller Area Network)

Question Number : 6 Question Id : 2549897719 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ToR & IR A 9§ Q 59 YR & $R Sead Bl STUNT fohar ST 82
Options :

1. % SAN (R URAT Acdah)

2. ¥ HAN (819 TRaT Acad)

3. % WAN (T3S TRAT )
4. % CAN (deleR URAT "cad)

Question Number : 7 Question Id : 2549897943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the keybord shorcut to create a duplicate copy of a PowerPoint slide?
Options :



1. ¥ Ctrl+D
2. % Ctrl+V
3. # Ctrl+C
4. * Ctrl+M

Question Number : 7 Question Id : 2549897943 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 1 Wrong Marks : 0
PowerPointmﬁMQﬁm%mmﬁﬁﬁmmwwmwa?
Options :

1. ¥ Ctrl+D

2. % Ctrl+V

3. ® Ctrl+C

4. % Cul+M

Question Number : 8 Question Id : 2549898104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Just like a pie chart, a chart shows the relationship of parts to a whole, but it can contain more than one data series.
Options :

1. * Bar

2. ¥ Doughnut

3. * Line

4. % Area

Question Number : 8 Question Id : 2549898104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TS 91e &1 IRE, Th T1E Ui & YT o Hae AU vl §, i S9% Uah ¥ e STeT §aan g gt g |
Options :

1. % dR



2. ¢ BHe
3. % |
4. % TRAn

Question Number : 9 Question Id : 2549898150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of an access control system.
Options :
1. % Wi-Fi
2. % Hotspot
3. ¥ Modem
4. ¥ Palm Reader

Question Number : 9 Question Id : 2549898150 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ TR i RREH 31U IR 8|
Options :

1. % dI5-Tg

2. % glc Wic

3. % HigH

4. ¢ TS

Question Number : 10 Question Id : 2549898235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows security is built-in to upgraded versions of Windows 10 and includes an antivirus program called
Options :

1. ¥ Microsoft Affender Antivirus

2. % Microsoft Firewall



3. % iptables Firewall
4. ¥ Microsoft Defender Antivirus

Question Number : 10 Question Id : 2549898235 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fISIor QRaf fISIST 10 & Ioa TXpR0N F SR (built-in) B § 3R 3TH T Ueh USIaTaRY URITH Sidd 2|
Options :

1. % HIZHNMIT Ther USarRy

2. % HIZHIIU BRRAIA

3. % JEURTE WAl

4. ¢ UEDHET fethex Tary

Question Number : 11 Question Id : 2549898328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, is a pre-defined decorative text that you can add to a document.
Options :

1. % ClipArt

2. # SmartArt

3. ® Charts

4. ¥ WordArt

Question Number : 11 Question Id : 2549898328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS WordH,  TU® JafYiRd Goact Uré g ford 31 Ueh xdiae H Sl 9ahd § |
Options :

1. ® fog ame

2. % HTE 3¢

3. % 91¢




4. ¥ 38 3T

Question Number : 12 Question Id : 2549898736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
EIDE stands for “ ”.

Options :

1. ¥ Enhanced Integrated Drive Electronics
2. #® Extended Integrated Dual Electronics
3. # Enhanced Integrated Dual Electronics
4. ® Extended Integrated Drive Electronics

Question Number : 12 Question Id : 2549898736 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EIDE &1 faaRawu" gl

Options :

1. ¥ T8RS sﬂﬁ%ts' gled gﬁ?@'\ﬁ%l?ﬁ[ (Enhanced Integrated Drive Electronics)
2. % Qﬁﬂ%@g sﬂﬁ%—s’ g3{cl sﬁazﬁﬁ?m (Extended Integrated Dual Electronics)
3. % TgRS ‘s’éﬁ%—s' g3{cd ‘s’@aiﬁﬁaﬂ (Enhanced Integrated Dual Electronics)

4. % THCSS 5Ccs glgd g@aﬁﬁaﬂ (Extended Integrated Drive Electronics)

Question Number : 13 Question Id : 2549898950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is a Ripper?

Options :

1. ¥ It corrupts data from the hard disk.

2. # It can destroy all data by formatting hard drive.
3. # Itis distributed as an email attachment.

4. % Tt is a worm.



Question Number : 13 Question Id : 2549898950 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR (Ripper) T fﬁ?ﬂ %?

Options :

1. ¥ g BT [8%% & Sl & [dgd (FP) PR adl 7

2. % Ug TS I13d B! BIRAT HXh Tt ST Bl ¥ IR Il g |
3. % U 3AA 3icTHe & wU H fqalka fear smar g1

4, % 2II_'C;Q$5|'1§[(worm)%l

Question Number : 14 Question Id : 2549899443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the start menu option to view the installed printers?
Options :

1. ¢ Press Windows key and type printers & scanners

2. #® Press Windows key + P

3. % Press Windows key + S

4. ® Press Windows key + I

Question Number : 14 Question Id : 2549899443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

<erer R T e ) o 35 v e g e 82
Options :

1. v ﬁ@ﬂﬁaﬁlﬁ@?printers&scannersa@aﬁ

2. % fdST &1 + P a1y

3. % {dS9T &t + s qaTU

4. % fdSIT &1 + 1 gl



Question Number : 15 Question Id : 2549899585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which standard feature of Windows NT, 2000, XP, Vista and Windows 7 allows a group of printers to share the same name and function as if
they were one printer?

Options :

1. % Printer pool

2. % Printer group
3. # Printer network

4. % Printer server

Question Number : 15 Question Id : 2549899585 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Windows NT, 2000, XP, Vista 3R Windows 7 B! HI- It HF fa=NdT fifex & Th THg HI THM A 3R o= IR H3 B STAR ol
T ORI 5 3§ U fiier A

Options :

Question Number : 16 Question Id : 25498910768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a computer network, sharing printers and scanners centrally is also called as:
Options :

1. ¥ data mining

2. % data warehousing

3. # data expandability

4. ¥ resource sharing



Question Number : 16 Question Id : 25498910768 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

He Yok e RSV ST A TRFAD W g
Options :

1. % ST AT

2. % STT AURBIBRT

3. % Souaqufstaferdt

4.« RN =R

Question Number : 17 Question Id : 25498911158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Long exposure to sound is dangerous for the:
Options :

1. # eyes

2. % brain

3. ¥ ears

4. % legs

Question Number : 17 Question Id : 25498911158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

31 GHY d @ & Jueh H 51 fordds g g1 R 82
Options :

1. % 3fiEl & forg

2. % AW o oY

3. ¢ BTl & ferg

4. % TN & forg

Question Number : 18 Question Id : 25498911484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
option is used to check the spelling and grammar of the selected text in MS Word.
Options :
1. ¥ Spelling and Grammar
2. # Set Language
3. #® Thesaurus

4. % Translate

Question Number : 18 Question Id : 25498911484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word H T0fAd UTS &1 gl 3R a0l (@ IR IR S A aRa b g faded o1 Suan fear S g |
Options :

1. ¢ e T8 IR (Spelling and Grammar)

2. % YT e (Set Language)

3. % Ry (Thesaurus)

4, % ;’mﬁ‘c’ (Translate)

Question Number : 19 Question Id : 25498911735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a third-generation programming language?
Options :

1. * COBOL

2. % BASIC

3. ¥ PASCAL

4. ¥ Assembly Language

Question Number : 19 Question Id : 25498911735 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



frafoiRad 7 9 ®F ! Uit &1 URmfET ye 81 |2
Options :

1. ® PI&Id (COBOL)

2. % 9% (BASIC)

3. % URdhd (PASCAL)

4. ¢ AT AT (Assembly Language)

Question Number : 20 Question Id : 25498913447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to images, PNG stands for .
Options :

1. ¥ Portable Network Graphics

2. % Portable Natural Graphics

3. % Portable Neutral Graphics

4. % Primary Natural Graphics

Question Number : 20 Question Id : 25498913447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO & TeH § PNG &1 qUiRey &1 g2

Options :

1. ¥ Portable Network Graphics (qﬁaa Jeddh M)
2. % Portable Natural Graphics (ch%aa ﬁﬂ?ﬂ T eRT)

3. % Portable Neutral Graphics (dIlead ~gcd UTTtha)

4. ® Primary Natural Graphics (Q'Igtlﬁ qT*:RT’[ m

Question Number : 21 Question Id : 25498918460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
To print the documents, inkjet printer uses an inkjet



Options :

1. ¥ cartridge
2. # container
3. ¥ memory

4. ¥ gpooler

Question Number : 21 Question Id : 25498918460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STagHeT @l fifc H & oy, Epoie ey Ta Sdoie BT YT HAT B |
Options :

1. ¢ Pl

2. % HeR

3. % HAR

4. % TR

Question Number : 22 Question Id : 25498918547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With reference to starting a computer, what is the full form of POST?
Options :

1. * Power On System Test

2. ® Power On System Task

3. ¥ Power On Self Test

4. % Power On Source Test

Question Number : 22 Question Id : 25498918547 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HEER DI WIE B & Yy H, POST FT Juley F1 g2
Options :




1. % Power On System Test (UTAX 3 e é@
2. % Power On System Task (UTd} 31 Req Trep)
3. ¢ Power On Self Test (UTAR 3 Yelh XX

4. ¥ Power On Source Test (UTAX 3 ?ﬁﬁ%&’)

Question Number : 23 Question Id : 25498918966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If user wants to quickly create bullet points in Word document, which shortcut will create the bullet points?
Options :

1. ¥ CTRL+SHIFT+M

2. % CTRL+SHIFT+B

3. ¥ CTRL+SHIFT+L

4. % CTRL+SHIFT+P

Question Number : 23 Question Id : 25498918966 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gfe JanTehdl a8 Sxaras | digdl ¥ gae fig s 18 8, d &9 I e gae g samem?
Options :

1. % CTRL+SHIFT+M

2. % CTRL+SHIFT+B

3. ¢ CTRL+SHIFT+L

4. % CTRL+SHIFT+P

Question Number : 24 Question Id : 25498919243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following categories of documents CANNOT be created using the Mail merge feature of MS Word 20167
Options :

1. % Labels



2. ® Letters
3. % Envelopes
4. " Executable files

Question Number : 24 Question Id : 25498919243 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word 2016 &1 T Tof fa=INdT &1 SUIRT I FHfaRad & 9 fg Joft & cxdiast A8l 9-1e o 9
Options :

1. % A9 (Labels)

2. % Ty (Letters)

3. ® UAddW (Envelopes)

4. & Qﬁﬁ{%@ﬂm (Executable files)

Question Number : 25 Question Id : 25498919317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the full form of CUI in a computer?
Options :

1. % Command Unique Interface

2. % Command User Interest

3. % Character User Interface

4. % Character User Increase

Question Number : 25 Question Id : 25498919317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
HYR & eH H, CUI BT YUl &9 1 g2

Options :

1. ® Command Unique Interface (FHIS W W)
2. % Command User Interest (PHIS PN ‘éC\Q\‘C)




3. ¥ Character User Interface (WT YolX W)
4. % Character User Increase (W golk ST )

Question Number : 26 Question Id : 25498919318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following GUI elements is a small picture that represents objects such as a file, program, web page, or command?
Options :

1. ¥ Icon

2. % Widgets

3. # Window

4. ¥ Menu

Question Number : 26 Question Id : 25498919318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fafaRed # § &9 ¥ GUI d@, BISd, UIUTH, 3909 3HYdl HHTS B ad HR- ard Ble-B1c I 8ld 82
Options :

1. ¢ 3ZHIA

2. % faq7Ie

3. % fdei

4. % WY

Question Number : 27 Question Id : 25498922671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With the help of the following signs, try to identify the problem source in the computer.
a. A loud, constantly running, overworked computer fan.

b. A high CPU temperature

c. System instability

Options :

1. #* Power failure issues



2. % Motherboard problems
3. % Heat sink problems
4. % Hard disk problems

Question Number : 27 Question Id : 25498922671 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad dobdl & Aee ¥ HHER H THAT & HAd BT Il T BT TR B2
a. TR & AIY TAR 99 38T STavade HEex oI Ul

b. CPU 1 3 dTUq
c. Rrem sifRman

Options :

1. % GicR fawerd o U™
2. % RIS DI AW

3. ¢ gic-Rid & g9y

4. % T8 o & gy

Question Number : 28 Question Id : 25498924042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is one of Microsoft’s tools that helps the users to customise Windows 95.
Options :
1. # IP Diagnostic
2. % URLScan
3. ¥ Tweak Ul

4. ¥ PCmover Express

Question Number : 28 Question Id : 25498924042 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

, HTShINTUE 1 U ¢ ¢ oIl SUTNTGHArs &I fdSIN 95 Pl HeeHISel #3- § Aeg didl |




Options :

1. % 33U SNRE® (IP Diagnostic)

2. % YIRUAWH (URLScan)

3. ¥ €& YIS (Tweak UI)

4. % URIYER TRV (PCmover Express)

Question Number : 29 Question Id : 25498924431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

With respect to Web Development, CSS stands for:
Options :

1. # Cascading Screen Shot

2. ¢ Cascading Style Sheet

3. % Color Select Simple

4. ® Capture Screen Shot

Question Number : 29 Question Id : 25498924431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

a9 faera & dey &, css &1 3

Options :

1. % HIPHIST TpI WAl (Cascading Screen Shot)
2. HIHIST LENE (Cascading Style Sheet)
3. % HoR Jade RiTd (Color Select Simple)

4. % PR THIA TIe (Capture Screen Shot)

Question Number : 30 Question Id : 25498925315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the keyboard shortcut to open an existing file in MS Word?
Options :



1. ® Alt+O
2. ¥ Ctrl+O
3. % Ctrl+P
4. % Alt+N

Question Number : 30 Question Id : 25498925315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Word &, FI[GT HTSd Wie & ol Sidis Qe 182
Options :

1. = Alt+O

2. % Ctrl+O

3. * Ctrl+P

4. % Alt+N

Question Number : 31 Question Id : 25498925334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the keyboard shortcut to insert a new slide in a PowerPoint presentation?
Options :

1. ¢ Ctrl+M

2. % Cul+D

3. % Alt+]

4. = Ctrl+]

Question Number : 31 Question Id : 25498925334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
PowerPointaﬁéWﬁqgmﬂ'&lﬁﬁmaammwmﬁﬁﬁ'ﬁ:{m%‘?
Options :

1. ¥ Ctul+M

2. % Ctrl+D



3. % Alt+I
4, % Ctrl+1

Question Number : 32 Question Id : 25498933923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Other name of tactile sensor is Sensor.
Options :

1. # pressure

2. % humidity

3. % touch

4. % temperature

Question Number : 32 Question Id : 25498933923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
CHRBAIRBIGIRIAT  JW g
Options :

1. % USR

2. % ggmfedt

3. ¢d

4. % IR

Question Number : 33 Question Id : 25498934081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
AdLib sound cards had:

Options :

1. ¥ 9 voice and 1 mono channel

2. # 7 voice and 2 mono channels

3. # 6 voice and 3 mono channels



4. % 8 voice and 2 mono channels

Question Number : 33 Question Id : 25498934081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TSTAE (AdLib) T3S HTed H T 8T UT?
Options :

1. ¥ 99139 3R 1 A d=1d

2. % 73739 3R 2 A 9=

3. % 69139 3R 3 THI o=d

4. % 831 3R 2 A Id

Question Number : 34 Question Id : 25498934483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In video streaming, content is sent in form over the Internet and displayed by the viewer in real time.
Options :

1. # uncompressed

2. ¥ compressed

3. #® encrypted

4, % textual

Question Number : 34 Question Id : 25498934483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e H Sexec R W H it Hoh offd! § $iR a¥idh gRT aRafds 99d | Uefid & ol ]
Options :

1. % 3yifed (uncompressed)

2. ¢ IUifed (compressed)

3. % TP (encrypted)

4. % CHIYSAA (textual)




Question Number : 35 Question Id : 25498944363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
is an example of behavioural biometric.
Options :
1. ¥ Signature dynamics
2. % Fingerprint
3. # Iris Recognition
4. % Face

Question Number : 35 Question Id : 25498944363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

foRfamRa IAfc® &1 U IaeruI gl

Options :

1. ¢ RIUR S/
2. % 3ICl &l B
3. % 3N UgaH
4. % g

Question Number : 36 Question Id : 25498944364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the result of the following MS-Excel 2019 formula?
=FLOOR(250, 25)

Options :
1. % 249
2. % 240
3.9 250
4. % 275



Question Number : 36 Question Id : 25498944364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FATIRIT MS-Excel 2019 I3 ST URUIH &1 82
=FLOOR(250, 25)

Options :
1. * 249
2. % 240
3.9 250
4. % 275

Question Number : 37 Question Id : 25498944365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following is one of the boot loader for Linux Operating System?
Options :

1. ¥ LILO

2. % KERNEL

3. % BIOS

4. % POST

Question Number : 37 Question Id : 25498944365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafafad # 9 S-91, ey SRS Ren & it e AR A A U 72
Options :

1. ¥ LILO

2. % KERNEL

3. # BIOS

4. % POST

Question Number : 38 Question Id : 25498944366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

1 Petabytes is equal to

Options :

1. # 1024 bytes

2. % 1024 kilobytes

3. % 1024 terabytes

4. # 1024 megabytes

Question Number : 38 Question Id : 25498944366 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
10eeEe. FRER gl
Options :

1. % 1024 dIgcH

2. % 1024 fbdlarsey

3. ¢ 1024 RR(ECH

4. % 1024 IIETECY

Question Number : 39 Question Id : 25498944368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following shortcuts is used to open the file menu in MS Word?
Options :

l. % Ctul+C

2. % Cul+V

3. ¥ Alt+F

4. % Ctrl +X

Question Number : 39 Question Id : 25498944368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



MS Word & W1gd T4 WieH & e 9 & § {6y 2iicawme &1 I foar S 82
Options :

1. % Ctl+C

2. % Ctrl+V

3. ¥ Alt+F

4. % Crl+ X

Question Number : 40 Question Id : 25498944369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In Gmail,  tab is used for messages from discussion boards and mailing lists.
Options :

1. % Primary

2. % Promotions

3. % Updates

4. ¥ Forums

Question Number : 40 Question Id : 25498944369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HaH, 9T SuaN T Sl 3R AfelT gt | Tt & forg far war R
Options :

1. % grsas (Primary)

2. % YR (Promotions)

3. % HU@?F (Updates)

4. ¥ B (Forums)

Question Number : 41 Question Id : 25498944370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many cells are present in the cell range A1:B3 of an MS-Excel worksheet?



Options :
1.*9
2. %17
3.6
4. % 13

Question Number : 41 Question Id : 25498944370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Excel FHTITE & I 39 A1:B3 H - I Aiv[g 81d 82
Options :

1. * 9

2.% 7

3.6

4. % 13

Question Number : 42 Question Id : 25498944371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following command is available in View tab in MS-Word 2019?
Options :

1. ¥ Print Layout

2. % Orientation

3. % Size

4. % Track changes

Question Number : 42 Question Id : 25498944371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS-Word 2019 ¥ View ¢& & (49 & 9 o191 SHTS IUds 57
Options :

1. ¢ flic damse (Print Layout)




2. % 31-”?@%%:1 (Orientation)
3. % TS (Size)
4, % éﬁﬁéﬁﬁﬂ (Track changes)

Question Number : 43 Question Id : 25498944372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following characters is used to indicate the beginning of any formula in MS Excel 2016?
Options :

1. ¥ =

2.% 5

3.% &

4. 8 *

Question Number : 43 Question Id : 25498944372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MS Excel 2016 ¥ foreit off I &1 J[3HTd DI 10 - & forg FafaRad & & fog aof 1 Sy fear Srar g2
Options :

1.¥ =

2.% 8§

3.% &

4, ® *

Question Number : 44 Question Id : 25498944373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is the visual representation of a PivotTable in Excel.
Options :

1. # Table

2. % 3D Models



3. # Smart Art
4. % Pivot Chart

Question Number : 44 Question Id : 25498944373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Uh ., Excel H U fUge ood &1 =g Freuur g1
Options :

1. % <qd

2. % 3D HiSd

3. % WIC 31C

4.+ fUae arc

Question Number : 45 Question Id : 25498944374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the shortcut key to bold the selected text?
Options :

1. ¥ Cul+B

2. % Ctrl+]

3. ® Ctrl+D

4. % Ctul+C

Question Number : 45 Question Id : 25498944374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TG CRE DI FIee HRA & (Y 9 H F HH-I e Foit g2
Options :

1. ¢ Ctrl+B

2. % Ctrl+]

3. % Ctrl+D




4. % Ctrl+C

Question Number : 46 Question Id : 25498944375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

CPU itself has three components, Memory or Storage Unit, , and Arithmetic Logic Unit.
Options :

1. # Computer Unit

2. % Common Unit

3. % Campus Unit

4. % Control Unit

Question Number : 46 Question Id : 25498944375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sl i rer Ry M eRagfe, | IR siuifs dfve gfic

Options :

Question Number : 47 Question Id : 25498944376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who can use BHIM?

Options :

1. % Anyone with a bank account and credit card.

2. % Any adult person of India even he/she has no bank account.

3. ¥ Anyone with an Indian bank account, registered mobile number and debit card.

4. % Anyone with a smartphone.



Question Number : 47 Question Id : 25498944376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WiT (BHIM) &1 IugNT FAAfaifed # ¥ B R Fehall 82

Options :

1. # 4% WId 3R wSe HTs arar v o aafa|

2. % YR BT His H 90%F Afad I8 YD HIg 9 WA 81|

3. ¢ YR o W1, Goligrd Hiasd AaR 3R Sfe HTs ara dis +f fad |
4. % WICHA aTa dis Wt fad |

Question Number : 48 Question Id : 25498944377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We can find Track Changes command in tab in Ms Word Ribbon
Options :

1. # View

2. ¥ Review

3. % Design

4. # Insert

Question Number : 48 Question Id : 25498944377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

&9 Ms Word K& o ST H TP IS HHIS TTIHA & |
Options :

1. % Y (View)

2. ¢ R (Review)

3. % feureg (Design)

4. % 3T (Insert)



Question Number : 49 Question Id : 25498944378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, table with four rows and five columns has cells.
Options :

1. % 4

2.% 5

3.9

4, ¥ 20

Question Number : 49 Question Id : 25498944378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR Uil SR Ui WiHi arelt T MS Word diferest HIFH (F) T 6|
Options :

1. % 4

2.% 5

3.9

4.9 20

Question Number : 50 Question Id : 25498944379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In MS Word, Ctrl+L is used to:

Options :

1. *= align text to both left and right margin
2. % align text to center

3. ¥ align text to the left margin

4. * align text to the right margin

Question Number : 50 Question Id : 25498944379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

MS WordﬁCtrHLWWﬁ'ﬁmﬁﬁammW%?
Options :

1. % UT& &1 a1 3R T4 g1 BRI (HTfS) & st T TRRId d3 & forg
2. % UG Dl g H ARGT B o feorg

3.  TT3 &I 914 BRI (AIfoM) TR WRRad v & forg

4. % TS 1 alfgH BIRIT (AT TR IR B & forg

Question Number : 51 Question Id : 25498944380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The use of parity bit is for:

Options :

1. # Indexing

2. # Coding

3. ¢ Error detection

4. # Scanning

Question Number : 51 Question Id : 25498944380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
MAfemImm Ffaug
Options :

1. % SSfR

2. % DIET

3. ¢ Ff¢ BT Udl

4. % T

Question Number : 52 Question Id : 25498944381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



USB pen drive is a device.
Options :

1. ¥ removable

2. % fixed

3. % non-portable

4. % volatile

Question Number : 52 Question Id : 25498944381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

quEe (USB) U gld U fSasa sl
Options :

1. ¢ Rgded

2. % fhRg

3. % 9-O¢aTd

4. % gidiersd

READING COMPREHENSION

Section Id : 2549895493
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 5

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895534

Question Shuffling Allowed : Yes



Question Id : 25498921019 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (53 to 57)

Read the given passage and answer the questions that follow.
Plants

Plants give us lots of things including oxygen, food, and medicines. Plants need things like water, light, and air. The amount of daylight they get
affects their growth. Plants also need food, just like we do. The different parts of a plant help it make food.

Plants have three basic parts. They are the roots, stems, and leaves. The roots anchor the plants and absorb water and minerals. The stems hold
the plant up. Plants make their own food with the help of the leaves.

Some plants cross-pollinate. These plants have male (the stamen), or female (the carpel) parts. Wind and water sometimes scatter the pollen, but
insects do most of the work. Other plants pollinate themselves. A new plant is born from a seed. The seeds contain food for the plants' first stage
in life. As the plants begin to sprout roots and grow stems, they produce their own food using chlorophyll. Seeds scatter in many ways. Some
plant seeds have hooks, which stick to the fur of insects, which is then brushed off in a different place. Flying seeds, floating seeds, or fruits are
carried far by wind or water. Some plants have exploding seed pods that fling seeds into the air.

Plants come in many varieties. Some plants are as large as Giant Sequoias, while others are as small as Rootless Duckweed. Plants can live from
months to centuries. Some plants are climbers. They reach out for objects to climb on. They like to climb on poles, fences, statues, and other
plants (mainly trees). Some plants eat insects. These plants have moving parts, sticky substances, or pools of fluid to help them catch food. When
these plants live on trees, they do not harm the trees. Some plants that live on other plants do harm the plants they are living on. These plants are
called parasitic plants.

Sub questions

Question Number : 53 Question Id : 25498921020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We depend on plants for many things. Which of the following is NOT true for this statement?
Options :

1. #* Medicines

2. % Oxygen

3. ¥ Daylight

4. # Food

Question Number : 54 Question Id : 25498921021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which part of the plant is important for making food?

Options :

1. ¥ Leaves

2. % Roots

3. # Stem

4. % Seed

Question Number : 55 Question Id : 25498921022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the role of seeds in plants?
Options :

1. # Seeds fly to other places

2. # Seeds float to faraway places

3. % Seeds scatter in many ways

4. ¥ Seeds contain food for the first stage of a plant's life

Question Number : 56 Question Id : 25498921023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seeds spread all over the place with the help of
Options :

1. ¥ water and wind

2. # plants that climb

3. % moving parts of plants

4. # plants that eat insects

Question Number : 57 Question Id : 25498921024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Plants that live on other plants are known as



Options :

1. * climbing plants
2. * moving plants

3. % parasitic plants

4. # living plants

Question Id : 25498921019 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (53 to 57)
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Sub questions

Question Number : 53 Question Id : 25498921020 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

T B Aol & fod Urell IR MR 3= 8 1' 59 e & forg fafaRad & 9§ o a1 faded 9 e &2
Options :

1. % 3wl

2. % o

3.9 YJ

4. % IS

Question Number : 54 Question Id : 25498921021 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

QY BT I JT HET Ui & fHafor & ggre garg?
Options :
1. ¢ O
2. % T8
3. % Tl
4. % diof

Question Number : 55 Question Id : 25498921022 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

arell 3 g oS b1 yffrenT T 2

Options :

1. % 5 SSHR 3= R db o bl &

2. % I QX G AP B o b §

3. % S S Al o foera §

4.« SIS H Qrell o Sita o Ugel TR0 ob fe1q HIeH HiN[e Biel &

Question Number : 56 Question Id : 25498921023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
i) @ geradl 9 Gt S8 U offd |



Options :

1. ¥ T 3R gl

2. % ddl

3. % Uief o TIfRfe Yl
4. % oicyel adf

Question Number : 57 Question Id : 25498921024 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

WY e e R R A @ HEA ol

Options :
1. % &dIl
2. % T G
3. ¢ UReidl Ui
4. % Sifaa qg

QUANTITATIVE APTITUDE
Section Id : 2549895494
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895535

Question Shuffling Allowed : Yes



Question Number : 58 Question Id : 25498914313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The ratio of the angles of a quadrilateral is 3 : 4 : 6 : 7. Half the second largest angle of the quadrilateral is equal to the smaller angle of a
parallelogram. What is the measure of the adjacent angle of the parallelogram?

Options :
| % 136°

5 v 126°
s % 94°
4. ® 96°

Question Number : 58 Question Id : 25498914313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
UF TJHS F FUN F FTA 3 0 4 16 : 7 g TIHS F GHT FEH FIT FIT FAAH IJHSH F Bl
HIT % TR ¢ FAGAKR TG & HTHeol HIUT H AT FT 57

Options :
| % 136

5 v 126
;% 94

4 % 96



Question Number : 59 Question Id : 25498914361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What approximate value will come in place of question mark (?) in the following question?
(Note: You are not required to calculate the exact value)

50.001% of 99.99 +49.999 = ?
Options :

1.¥ 1

2. % 0.1

3. % 0.01

4. % 0.02

Question Number : 59 Question Id : 25498914361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
frafafa wea 7 9o e (?) & Ta W HATAT AT FAT Far TET? (TR FEF AT H
IUTAT LT FLAT )

99.99 &1 50.001% + 49.999 =7
Options :
1.v 1

5 % 0.1
3 % 0.01

4 % 0.02



Question Number : 60 Question Id : 25498928797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What should come in place of the question mark (?) in the following question?

5163 —4018 + 3209 =7
Options :
1. ® 4174
2. % 4264
3. % 4804
4. 4354

Question Number : 60 Question Id : 25498928797 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

F=ff@T 97 # 9o ®Ea (?) & T o FiF O gEar AT

5163 - 4018 + 3209 = ?
Options :

| % 4174
5 % 4264
s % 4804

4 v 4354

Question Number : 61 Question Id : 25498928931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the option that can replace the question mark (?) in the given equation.



0.5x90+15=7

Options :
1. ¥ 30
2. % 40
3. % 35
4. % 45

Question Number : 61 Question Id : 25498928931 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fgferfad oy o us fomg (2) & R IR 1 A1 ST

0.5x90+1.5=7?
Options :

1. ¥ 30

2. % 40

3. % 35

4. % 45

Question Number : 62 Question Id : 25498928948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A bag contains 7 blue balls and 5 yellow balls. If two balls are drawn at random, what is the probability that none is yellow?
Options :
5
1 % 33

5

2. % 22



Question Number : 62 Question Id : 25498928948 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
T For H 7 Al I AR 5 Il dig §) 3y &Y et F are=e w9 @ A S0 A R o g F A |
gl & wTierar 4T 87

Options :
8,
1. ®% 33

Question Number : 63 Question Id : 25498929574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
If a, = cos™ @ + sin™ 8, then the value of 2a, — 3a, — 4 is:

Options :



1.¥ -5
2.% 4
3.% 4
4. %1

Question Number : 63 Question Id : 25498929574 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
3T a, = cos™@ +sin"8 §, ar 2ag —3a, —4 F AT fFa=T 27

Options :
.¥ D
) # -4
3 % 4
4. % 1
GENERAL MENTAL ABILITY AND REASONING
Section Id : 2549895495
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 2549895536
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 25498910334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

'Sulphur' is related to "Vulcanisation' in the same way as 'Chlorine’ is related to ' "
Options :

1. #® Extraction

2. ¥ Bleaching

3. # Metallurgy

4. % Allotropy

Question Number : 64 Question Id : 25498910334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP BT TeH-IHIUN Y Tal GaY g, O Fael FAR' BT T3
Options :

1. % sy

2. ¢ fadeH

3. % YIgHH

4. % YUl

Question Number : 65 Question Id : 25498919023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the word from the options that is similar to the given set of words in a certain manner.

Spatula, Strainer, Fork
Options :
1. % Rake



2. % Ladle
3. ® Saw

4. % Hoe

Question Number : 65 Question Id : 25498919023 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fasedl & 9 39 eq 1 90 PITT, St 7 Weel & Tgerd o A &
DRl SAl, Wi

Options :

1. % qre

2.« JHA[

3. % IR

4. % Pard

Question Number : 66 Question Id : 25498919679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the third number in the same way as the second number is related to the first number and the sixth number is
related to the fifth number.

9:8:16:7::49:216
Options :
1. ¥ 27
2. % 18
3.% 12
4. % 14

Question Number : 66 Question Id : 25498919679 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 [dored &1 99 i Sl RN TReAT o ST ThR A & For TR gl TR Ugdl! S § 3R ol S uida O 9 dafid



gl

9:8::16:7::49:216
Options :

1. ¥ 27

2. % 18

3. % 12

4. % 14

Question Number : 67 Question Id : 25498919946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Four words have been given, out of which three are alike in some manner and one is different. Select the word that is different.
Options :

1. # Barren

2. % Desolate

3. * Sterile

4. ¥ Fertile

Question Number : 67 Question Id : 25498919946 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR faspedl H IR Teg AT U € o8 A i fhelt TR A T O &, S1afp T 319 firdt 21 39 el Xheg b1 U Y |
Options :

1. % §OR

2. % dRM

3. % IR

4. ¢ 30N

Question Number : 68 Question Id : 25498927827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Select the option that is related to the third word in the same way as the second word is related to the first word.

Steel : Alloy :: Zinc : ?
Options :

1. ¥ Metal

2. % Non-Metal

3. * Salt

4. * Halogen

Question Number : 68 Question Id : 25498927827 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fahed &1 T BT ot TR Weg T I UHR Yl 8 T TR GIRT Uee Ugd e J Yl g
ST : T - foidh - 2

Options :

1. ¥ Y]

2. % 3YI]

3. % ofdUl

4. % g

Question Number : 69 Question Id : 25498928152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, 'INDIA HAS WON FIRST GOLD MEDAL' is written as 'JFZJU OUV SEF PJIDVB REQZ ITZUQ'. Bearing in mind
the same method, how will FOOT be written in that language?

Options :

1. * BEEB
2. % CEEA
3. ¥ PEEB
4. % SEEZ

Question Number : 69 Question Id : 25498928152 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

U fafy e UTST H, 'INDIA HAS WON FIRST GOLD MEDAL' @1 'JEZJU OUV SEF PJDVB REQZ ITZUQ' & U # ferar SIar 81 at 39
% YIS T 'FOOT' &I fovd U I ferar Siam?

Options :
1. * BEEB
2. % CEEA
3. ¥ PEEB
4. = SEEZ

GENERAL AWARENESS
Section Id : 2549895496
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 6
Number of Questions to be attempted : 6
Section Marks : 6
Display Number Panel : Yes
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895537
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 2549899676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When development in the economy takes place, share of the tertiary sector in the national income:
Options :

1. # first falls and then rises



2. # first rises and then falls
3. % keeps on increasing

4. * remains constant

Question Number : 70 Question Id : 2549899676 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

srferaeT B 91 fad g1l &, 79 g 3ma § el &= o1 e
Options :

1. % Ugal IRaT 8 3R fhR wga e

2. % Ugd gl ¢ 3R R iR g

3. ¥ SEAI /AT ©

4. % RRI|ATT

Question Number : 71 Question Id : 2549899785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the items in List-1 to those in List-1l and select the correct answer.

List-l List-1l

A. WC Bonnerjee 1. Home Rule Movement

B. Annie Besant 2. Indian revolutionary

C. Madan Lal Dhingra 3. Swaraj Party

D. Motilal Nehru 4. First President of the Indian National Congress
Options :

1. ®* A-1,B-4,C-3,D-2
2. % A-1,B-4,C-2,D-3
3. ¥ A-4,B-1,C-3,D-2
4. ¥ A-4,B-1,C-2,D-3

Question Number : 71 Question Id : 2549899785 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
G- T -1 fAST &l Tel 3T &1 99 B
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B. TeAl ST 2. AR TRl

C. AGaAelTel ST 3. et gref

D. Al &e 6% 4. AT TSI ST & IUH 6T

Options :

1. * A-1,B-4,C-3,D-2
2. % A-1,B-4,C-2,D-3
3. % A4,B-1,C-3,D-2
4. ¥ A-4,B-1,C-2,D-3

Question Number : 72 Question Id : 25498912522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Where was India’s first aerobic composting plant set up in 19927
Options :

1. # Delhi

2. % Mumbai

3. % Kolkata

4. * Chennai

Question Number : 72 Question Id : 25498912522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1992 H YRd & TY drgeiid Je-FHeur T (RIfdd SR Wic) Bt RIT9-1 &gl gs Al
Options :

1. % foeolt



2. s
3. % DIABIAl
4. % TS

Question Number : 73 Question Id : 25498912752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Dronacharya Award for sports coaches was instituted in the year:
Options :

1. % 1984

2.9 1985

3. % 1987

4. % 1988

Question Number : 73 Question Id : 25498912752 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T UiRTefen! o forg SI0Tar [REBR &1 (&S & 9 & 115 o
Options :

1. % 1984

2.9 1985

3. % 1987

4. % 1988

Question Number : 74 Question Id : 25498932496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The apex institution in the sphere of agriculture credit is:
Options :

1. # State Bank of India

2. % Reserve Bank of India

3. % Regional Rural Bank



4. ¥ National Bank for Agriculture and Rural Development

Question Number : 74 Question Id : 25498932496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIY B % & H RARTT W6 DIF 11 82
Options :

1. % YR ¥C dF

2. % YR Rord o

3. % i Ol I

4. TP HY T4 YT fapT o (ATETS)

Question Number : 75 Question Id : 25498935389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The vitamins which are soluble in water are:
Options :

1. % Aand B

2. % Cand D

3. Band C

4. % AandD

Question Number : 75 Question Id : 25498935389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o § g et e A ¥ a3 8
Options :

1.% ASRB

2. % C3RD

3.¥B3IRC

4. % A3RD



English Mock

Group Number : 2

Group Id : 2549893401

Group Maximum Duration : 5

Group Minimum Duration : 5

Show Attended Group? : No

Edit Attended Group? : No

Break time : 1

Mandatory Break time : Yes

Group Marks : 0

Is this Group for Examiner? : No

Show Progress Bar? : No
English Mock

Section Id : 2549895497

Section Number : 1

Section type : Typing Test

Mandatory or Optional : Mandatory

Number of Questions : 1

Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes

Maximum Instruction Time : 0

Sub-Section Number : 1

Sub-Section Id : 2549895538

Question Shuffling Allowed : No

Question Number : 76 Question Id : 25498941173 Question Type : TYPING TEST Display Question Number : Yes Calculator : None



Summer camps are supervised camps conducted to entertain as well as equip students with various life skills such as teamwork,
socializing, decision making, independent and responsible living and more. It aids the overall development of a child and children have
fun during this process as they get to explore new arenas.
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Group Maximum Duration : 15
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Show Attended Group? : No
Edit Attended Group? : No
Break time : 3
Mandatory Break time : Yes
Group Marks : 0
Is this Group for Examiner? : No
Show Progress Bar? : No

English Typing Test

Section Id : 2549895498
Section Number : 1
Section type : Typing Test
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Number of Questions : 1



Number of Questions to be attempted : 1

Section Marks : 0

Display Number Panel : Yes

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 2549895539
Question Shuffling Allowed : No

Question Number : 77 Question Id : 25498937893 Question Type : TYPING TEST Display Question Number : Yes Calculator : None

Monsoon is a time for scenic beauty all around India and nothing beats the thrill of long rides in this season. But this is the season when
most of us contract deadly diseases. Getting a viral fever or suffering from cough and cold is quite common scenes. After learning about
this, that long ride with your spouse does not look promising. You need do make certain changes, if you do not want to infect with the
disease. First of all, you have to maintain personal hygiene. You must take good care of yourself. Many viruses and bacteria are lurking
around us waiting to attack those of us with a weak immune system. That is why it is advisable to keep yourself neat and clean. The next
thing that you should do in this monsoon is to strengthen your immune system. When you have a weak immunity system, you become an
easy target for most of the infections. The best way to kickstart your defense system is with an intake of vitamin C. Add vegetables and
fruits to your diet. Drinking green tea can also help in strengthening your immunity. You should wear clean and dry clothes and
footwear. If your clothes and shoes have not dried properly, do not wear them. Damp clothes and shoes often become home for microbes.
Make sure you wear clean and fully dried clothes and shoes. You should also clean your home. There is water logging during rainy days.
Stagnant water can become a breeding ground for mosquitoes. That is why it is advisable to keep your home and surroundings clean and
dry during the rainy season. Always drink boiled water in the rainy season. You should not drink juices from roadside shops. You never
know if the water used in preparing juice is infected. Make sure you drink only boiled water. Contaminated water may put you at risk of
contracting diseases. Boil your veggies properly. Raw vegetables may carry germs during monsoon. Washing them thoroughly and
boiling them is of utmost importance. You can avoid contracting dangerous diseases. You should also take sleep well. Fewer hours of
sleep will not only make you cranky but also weak. You are more likely to attract flu. Make sure you get plenty of sleep at night. This in
result will help you wake up feeling fresh and active both physically and mentally. If you get soaked in rain, take a bath and dry your
hair immediately. Damp hair and clothes can attract viruses that cause flu. If you have contracted flu, take a bath in hot water. This will
prevent the virus from spreading and takes care of the sore throat. Exercising every day can help you stay fit and healthy when it is
pouring outside. If it is raining outside, you can do an indoor workout. Before eating anything, you should wash your hands properly.
Use handwash or soap to wash your hand when you come back home. As a result of this, no microbes will enter your body and cause
harm. Make sure you do not touch your eyes or any visible part of your body before washing your hands.
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Question Shuffling Allowed : No

Question Number : 78 Question Id : 25498944353 Question Type : TYPING TEST Display Question Number : Yes Calculator : None
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